Name Date

2 Step Order of Operations Lesson and Practice Worksheet

Calculate the final outcome of: 90 — (56 + 9)

4

Solution:
The contents in parentheses are evaluated first in the problem.

Step 1 90 — (56 + 9) T,

First perform the operations given inside the parentheses.

Step 2 90 — 65 Now, subtract the result.

Step 3 25 Calculation complete. Answer: 25
Practice:

1.120-90-10 6. 419 + 23 — 381
2.133-190 + 79 7.77 —80 + 111 - 100
3.109 + 22 -78 8.90 + 23 -101
4.58 -19 + 71 — 66 9.87 —-90 + 122
5.45-90+ 71 10.7-3+9

! Tons of Free Math Worksheets at: © www.mathworksheetsland.com




